1/4-20 X 2" PHILLIPS FLAT HEAD
MACHINE SCREW (7 PER PLATE @
18" [457mm] O.C.) (JK031)

SS. SPRING CLIP (J4J002) (7 PER PLATE
@ 18" [457mm] O.C.)

#8x2 [M4x50] SELF-TAPPING SHEET
METAL SCREW (7 PER FRAME @ 18"
[457mm] O.C.) (JKO61)

|

(&)]

3N
3

|
i

&
S R
i

I 5/8"

g _[16mm]

N, f—
0
0

DRYWALL (BY OTHERS)
CONT. ALUM. RECESSED FRAME (J2A001)

NN

5"
CONT. SANTOPRENE SEAL [127mm]
CONT. ALUM. FLUSH PLATE (J2C001-CA)
SPECIFY SEAL COLOR:
Black (J1DT0T 221-A07-050
Beige (J1D102)
Gray (J1D103) JOINT WIDTH MOVEMENT #+
BOf_f \:]\ih\;;]_(tﬂ(ﬂjlg“;)os) HORIZONTAL | VERTICAL
rig ite
Greige (J1D106) usS mm us mm UsS mm
2" 51 1" 25 1/2" 13
FINISH: ALUM. FINISH-CLEAR ANODIZED
PROJECT: DATE:  03-08-17

APPLICATION H
CUSTOMER: RECESSED WALL/WALL CONDITION SCALE: 12 lnproQ

W/DUAL SEALS-FLUSH PLATE

LOCATION: DOC: CADJM.153/R5

For More Information Visit: Inprocorp.com




1/4-20 X 2" PHILLIPS FLAT HEAD

MACHINE SCREW (7 PER PLATE @ 18"

[457mm] O.C.) (JK031)

INJECTION MOLDED CLIP WITH 1/4-20
SQUARE NUT (J4J002-INJRVA) \

CUSTOMER:

LOCATION:

W/DUAL SEALS-FLUSH PLATE

DOC: CADJM.153/R5

3 211/16" #8x2 [M4x50] SELF-TAPPING SHEET
STEEL CENTERING BAR (J7J006-HDBW) [76mm] [69mm] / METAL SCREW (7 PER FRAME @
(7 PER PLATE @ 18" [457mm] O.C.) 18" [457mm] O.C.) (JK0B1)
N / DRYWALL (BY OTHERS)
\P—l— I _ 5/8"
| ) =% I [16mm]
N
\\ CONT. ALUM. RECESSED FRAME
(J2A002)
8 7/16" \
[214mm] \ CONT. SANTOPRENE SEAL
CONT. ALUM. FLUSH PLATE
(J2C002-CA)
SPECIFY SEAL COLOR:
Black (J1D151) 221 'AO7-O75
Beige (J1D152)
Gray (J.1D153) JOINT WIDTH MOVEMENT t
Sf_f mhv':/i _(t“('ﬂgﬁ)%) HORIZONTAL | VERTICAL
rig ite
Greige (J1D156) us mm uUsS mm us mm
3" 76 [ 11/2" | 38 3/4" 19
FINISH: ALUM. FINISH-CLEAR ANODIZED
PROJECT: DATE:  03-08-17 ®
APPLICATION
RECESSED WALL/WALL CONDITION SCALE: 1:2 lnprOe

For More Information Visit: Inprocorp.com




1/4-20 X 2" PHILLIPS FLAT HEAD
MACHINE SCREW (7 PER PLATE
@ 18" [457mm] O.C.) (JK031)

INJECTION MOLDED CLIP WITH
1/4-20 SQUARE NUT
(J4J002-INJRVA)

STEEL CENTERING BAR
(J7J006-HDBW) (7 PER PLATE
@ 18" [457mm] O.C.)

4||

211/16"

[102mm]

| ARENg

N B
)

[69mm]
#8x2 [M4x50] SELF-TAPPING SHEET
METAL SCREW (7 PER FRAME @
/ 18" [457mm] O.C.) (JK061)
- DRYWALL (BY OTHERS)
~ 5/8"
m [16mm]

N~

T

\\ CONT. ALUM. RECESSED FRAME

(J2A002)
CONT. SANTOPRENE SEAL
"\_ CONT. ALUM. FLUSH PLATE

9 7/16" (J2C002-CA)
[240mm]
SPECIFY SEAL COLOR:
Black (J1D201
Beige ((J1D202)) 221-A07-100
Gray (J1D203) MOVEMENT +
SIS e JOINTWIDTH | |\ 5 RIZONTAL | VERTICAL
Greige (J1D206) us mm us mm us mm
4" 102 2" 51 1" 25
FINISH: ALUM. FINISH-CLEAR ANODIZED
PROJECT: DATE: 03-08-17
APPLICATION

CUSTOMER:

LOCATION:

RECESSED WALL/WALL CONDITION
W/DUAL SEALS-FLUSH PLATE

- INPro.

DOC: CADJM.153/R5

For More Information Visit: Inprocorp.com




1/4-20 X 2" PHILLIPS FLAT HEAD
MACHINE SCREW (7 PER PLATE @
18" [457mm] O.C.) (JK031)

INJECTION MOLDED CLIP WITH
1/4-20 SQUARE NUT

~

(J4J002-INJRVA) 6" 211/16"
STEEL CENTERING BAR [152mm] [69mm] #8x2 [M4x50] SELF-TAPPING
(J7J012-HDBW) (7 PERPLATE @\ / SHEET METAL SCREW (7 PER
18" [457mm] O.C.) / (F~JF+{</3I€\3A1E) @ 18" [457mm] O.C.)
DRYWALL (BY OTHERS)
58"
[ | I I
L [ 4 =% 1 / [16mm]
N
\\ CONT. ALUM. RECESSED
\ FRAME (J2A002)
[1219&?:] \ CONT. SANTOPRENE SEAL
CONT. ALUM. FLUSH PLATE
(J2C003-CA)
SPECIFY SEAL COLOR:
Black (J1D201) 221 -AO7-1 50
Beige (J1D202)
Gray (\{1D203) JOINT WIDTH MOVEMENT t
Sf.f Yw\ih\;/i'(tn(??g?os) HORIZONTAL | VERTICAL
rig ite
Greige (J1D206) U? mm U? mm VS _ mm
6 152 3 76 11/2 38
FINISH: ALUM. FINISH-CLEAR ANODIZED
PROJECT: DATE: 03-08-17
APPLICATION

CUSTOMER:

LOCATION:

RECESSED WALL/WALL CONDITION

W/DUAL SEALS-FLUSH PLATE

SCALE: 1:2

DOC: CADJM.153/R5

inpro.

For More Information Visit: Inprocorp.com




STEEL CENTERING BAR (WITH
PRE-ATTACHED COMPRESSION
SPRING ASSEMBLE) (7 PER PLATE @
18" (457mm) 0.C.) (J4J012-W-7)

CONT. ALUM. CENTERING BAR FRAME
(J2A007)

#8x2 [M4x50] SELF-TAPPING SHEET METAL
SCREW (7 PER FRAME @ 18" [457mm] O.C.)
(JK061)

DRYWALL (BY OTHERS)

CONT. ALUM. RECESSED FRAME (J2A015)
CONT. SANTOPRENE SEAL

8"

\[203mm]

4 3/8"
[110mm]

16 11/16"

CONT. ALUM. FLUSH PLATE (J2C180-FW) [424mm]
1/4"-20 X 3" PHILLIPS FLAT HEAD MACHINE
SCREW (7 PER PLATE @ 18" [457mm] O.C.)
(JK178)
SPECIFY SEAL COLOR:
Black (J1D201) 221-A07-200
Beige (J1D202)
+
Gray (J.1D203) JOINT WIDTH MOVEMENT T
grf,fg\:]‘/th\;ﬁ ,(tg(fjfoD‘;)os) HORIZONTAL | VERTICAL
i i
Greige (J1D206) US mm US mm US mm
8" 203 4" 102 2" 51
FINISH: ALUM. FINISH-CLEAR ANODIZED
PROJECT: DATE: 03-08-17 [ )
APPLICATION
CUSTOMER: RECESSED WALL/WALL-CEILING/CEILING CONDITION SCALE: 1:4 'nprOe
LOCATION: W/DUAL SEALS-FLUSH PLATE DOC: CADJM.153/RS For More Information Visit: Inprocorp.com




STEEL CENTERING BAR (WITH PRE-ATTACHED
COMPRESSION SPRING ASSEMBLE) (7 PER
PLATE @ 18" (457mm) O.C.) (J4J018-W-7)

10" 41/2"
CONT. ALUM. CENTERING BAR FRAME [254mm] [114mm]
(J2A007) PER SIDE
#8x2 [M4x50] SELF-TAPPING SHEET
METAL SCREW (7 PER FRAME @
18" [457mm] O.C.) (JK061)
DRYWALL (BY OTHERS) _[ 5/8"
—_ [16mm]
CONT. ALUM. RECESSED FRAME (J2A015) / T
CONT. SANTOPRENE SEAL
CONT. ALUM. FLUSH PLATE (J2C181-FW) -
1/4"-20 X 3" PHILLIPS FLAT HEAD — | 1[5138115;7/113]
MACHINE SCREW (7 PER PLATE @ 18"
[457mm] O.C.) (JK178)
SPECIFY SEAL COLOR:
Black (J1D201)
Beige (J1D202) 221 -AO7-2 50
Gray (J1D203)
O White (J1D204) JOINT WIDTH MOVEMENT +
Bright White (J1D205) HORIZONTAL | VERTICAL
Greige (J1D206) us mm us mm us mm
10" 254 5" 127 | 21/2" 64
FINISH: ALUM. FINISH-CLEAR ANODIZED
PROJECT: DATE: 03-08-17
APPLICATION

CUSTOMER:

LOCATION:

RECESSED WALL/WALL-CEILING/CEILING CONDITION
W/DUAL SEALS-FLUSH PLATE

SCALE:

1:4

DOC: CADJM.153/R5

iInpro.

For More Information Visit: Inprocorp.com




5/8"

|—

4 15/16"
[126mm]
PER SIDE

]

I([16mm]

N /
[305mm]

STEEL CENTERING BAR (WITH
PRE-ATTACHED COMPRESSION
SPRING ASSEMBLE) (7 PER PLATE @
18" (457mm) 0.C.) (J4J018-W-7)

CONT. ALUM.RECESSED FRAME
(J2A007)

#8x2 [M4x50] SELF-TAPPING SHEET
METAL SCREW (7 PER FRAME @ 18"
[457mm] O.C.) (JKO61)

/ DRYWALL (BY OTHERS)

CONT. ALUM.RECESSED FRAME
(J2A015)

2[;517%21 .\ CONT. SANTOPRENE SEAL
CONT. ALUM. FLUSH PLATE
(J2C182-FW)
1/4"-20 X 3" PHILLIPS FLAT HEAD
MACHINE SCREW (7 PER PLATE
@ 18" [457mm] O.C.) (JK178)
SPECIFY SEAL COLOR:
Black (J1D201) _ _
e 221-A07-300
Gray (J1D203) MOVEMENT +
OFf White (J1D204) JOINT WIDTH
Bright White (JTD205) HORIZONTAL | VERTICAL
Greige (J1D206) UusS mm UusS mm UsS mm
12" 305 6" 152 3" 76
FINISH: ALUM. FINISH-CLEAR ANODIZED
PROJECT: DATE: 03-08-17
APPLICATION

CUSTOMER:

LOCATION:

RECESSED WALL/WALL-CEILING/CEILING CONDITION
W/DUAL SEALS-FLUSH PLATE

SCALE: 1:4

DOC: CADJM.153/R5

iInpro.

For More Information Visit: Inprocorp.com




STEEL CENTERING BAR
(WITH PRE-ATTACHED
COMPRESSION SPRING
ASSEMBLE) (7 PER PLATE
@ 18" (457mm) 0.C.)
(J4J024-FW-7)

CONT. ALUM. CENTERING
BAR FRAME (J2A007)

#8x2 [M4x50] SELF-TAPPING

SHEET METAL SCREW (7
PER FRAME @ 18" [457mm]
0.C.) (JK061)

DRYWALL (BY

/., OTHERS)

6 3/16" 14"
[158mm] [356mm]
PER SIDE
5/8" .
Lﬁ 6mm]
26 7/16"
[671mm]
SPECIFY SEAL COLOR:
Black (J1D201 - -
Beige((J1D202)) 221 AO7 350
SH Yl 01D JOINT WIDTH MOVEMENT

Off White (J1D204)
Bright White (J1D205)
Greige (J1D206)

FINISH: ALUM. FINISH-CLEAR ANODIZED

HORIZONTAL | VERTICAL

UusS mm Uus mm Uus mm

14" 356 7" 178 7" 178

CONT. ALUM.
RECESSED FRAME
(J2A015)

CONT. SANTOPRENE
SEAL

CONT. ALUM. FLUSH
PLATE (J2C183-FW)

1/4"-20 X 3" PHILLIPS
FLAT HEAD MACHINE
SCREW (7 PER PLATE
@ 18" [457mm] O.C.)
(JK178)

PROJECT:

CUSTOMER:

LOCATION:

APPLICATION
RECESSED WALL/WALL-CEILING/CEILING CONDITION
W/DUAL SEALS-FLUSH PLATE

DATE: 03-08-17

SCALE: 1:4

DOC: CADJM.153/R5

iInpro.

For More Information Visit: Inprocorp.com




STEEL CENTERING BAR (WITH
PRE-ATTACHED COMPRESSION

SPRING ASSEMBLE) (7 PER PLATE #8x2 [M4x50]
@ 18" (457mm) O.C.) (J4J024-FW-7) SELF-TAPPING SHEET
METAL SCREW (7 PER
6 11/16" 16" FRAME @ 18" [457mm]

[170mm] [406mm] 0.C.) (JK061)

PER SIDE CONT. ALUM.

CENTERING BAR
FRAME (J2A007)

DRYWALL (BY
OTHERS)

5/8"

CONT. ALUM.

2o 716" RECESSED
Tirmd \, FRAME (J2A015)
CONT. SANTOPRENE
SEAL
CONT. ALUM. FLUSH
PLATE (J2C184-FW)
SPECIFY SEAL COLOR: . .
Black (J1D201) 221-A07-400 1/4"-20 X 3" PHILLIPS
ooy (10205 JOINT WIDTH MOVEMENT + SCREW (7 PER PLATE
Off White (J1D204) HORIZONTAL | VERTICAL @ 18" [457mm] O.C.)
Bright White (J1D205) UsS mm uUsS mm US mm Jic178 "
Greige (J1D206) = = = ( )
16 406 8 203 [41/2 115

FINISH: ALUM. FINISH-CLEAR ANODIZED

PROJECT: DATE: 03-08-17

APPLICATION <
CUSTOMER: RECESSED WALL/WALL-CEILING/CEILING CONDITION SCALE: 14 'nproe

W/DUAL SEALS-FLUSH PLATE

LOCATION: DOC: CADJM.153/R5

For More Information Visit: Inprocorp.com




STEEL CENTERING BAR (WITH #8x2 [M4x50]

PRE-ATTACHED COMPRESSION SELF-TAPPING SHEET
SPRING ASSEMBLE) (7 PER PLATE @ METAL SCREW (7 PER
18" (457mm) O.C.) (J4J030-FW-7) FRAME @ 18" [457mm]
0.C.) (JKOB1)
CONT. ALUM.
6 7/16" , 18"
(164mm (457mm] CENTERING BAR FRAME
PER SIDE (J2A007)
CONT. ALUM. RECESSED
FRAME (J2A015)
5/8" | DRYWALL (BY
£[16mm] % W % I{ VTHERS)
T 2. | IR —7 N\, 7 N\ T AT AT | TR
30 15/16" \ \

[785mm] \'
CONT.

SANTOPRENE
SEAL

CONT. ALUM. FLUSH
PLATE (J2C185-FW)

1/4"-20 X 3" PHILLIPS
FLAT HEAD MACHINE
SCREW (7 PER PLATE @
18" [457mm] O.C.) (JK178)

e 221-A07-450

Beige (J1D202)

o MOVEMENT %
P20 JOINT WIDTH | |/ 5 R1ZONTAL | VERTICAL
Bright Whis 2(3:3 D205) us mm us mm us mm
roge L D20E) 18" | 457 | 9 | 229 |41/2"| 115

FINISH: ALUM. FINISH-CLEAR ANODIZED

PROJECT: DATE: 03-08-17

APPLICATION :
CUSTOMER: RECESSED WALL/WALL-CEILING/CEILING CONDITION SCALE: 14 'nprOe

W/DUAL SEALS-FLUSH PLATE

LOCATION: DOC: CADJM.153/R5

For More Information Visit: Inprocorp.com




	221-A07-050.pdf
	Sheets and Views
	Model


	221-A07-075.pdf
	Sheets and Views
	Model


	221-A07-100.pdf
	Sheets and Views
	Model


	221-A07-150.pdf
	Sheets and Views
	Model


	221-A07-200.pdf
	Sheets and Views
	Model


	221-A07-250.pdf
	Sheets and Views
	Model


	221-A07-300.pdf
	Sheets and Views
	Model


	221-A07-350.pdf
	Sheets and Views
	Model


	221-A07-400.pdf
	Sheets and Views
	Model


	221-A07-450.pdf
	Sheets and Views
	Model



